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3 s i HIFE R (ko) 1 #Y3E Xt ERE |
A—k AH HY5E | HEREE] | Hfike) | BEF) | HEME) | REFE) | SEE | HEE) | RiEE)
130100|72 W2 A et 19,260
1301002V A T 2,600 0 2,000 10 1,296 1,188
130100|72 W2 A s 7,340 0 7,040 10 1,404 540
1301002V A % 1,650 0 1,200 10 1,296
130340[#IcA LA et 11,180
130340[#ICA LA & 440 0 440| 10 1,782
130340[#IcA LA s 200 0 200| 10 2,830
130340[#ICA LA R 4,700 0 4,700 10 1,836 1,566
130340[#IcA LA BR 4,790 0 4,590 10 2,052 1,080
130400(Z1% 5 e 3,687
130400| 1% 5 7% 3,430 0 3,430 10 2,916 1,566
130400| 1% 5 Ik 100 0 100 10 3,564 2,916
130500|7=lF > & et 47
130500(7= 17> = Ee 8 8 2 5,184
130500|7=1F > & BERS 10 10 2 5,724
130500(7=iF > = thE 24 24 2 4,320
1306001 A Z A et 1,732
130600|1LA Z A R L 170 170 5 2,160 1,080
1306001 A Z A s 1,470 1,470 5 3,780 1,080
131100| B3 e 18,810
131100{H % Ik 7,275 0 7,275 15 972 756
131100| B3 =5 750 0 750 15 972
131100{H 3 & 2,550 1,087 657| 13 691 670 1,080
131100| B3 FFrb 600 0 600 12 1,080




131100{H % RI& 7,635 0 6,810 15 1,620 864
131700| % + <Y e 40,303

131700(F v v A 12,250 10,580 10 1,188 691
131700| % v~ FE 25,553 22,223| 10 1,080 691
131700(F v v FMFrb 2,000 1,700 10 945 864
131800(12 5 WA E e 2,580

131800(I1F 3 WA E =33 25 0 25 0.2 140
131800(1F5 A= & 537 312 221| 0.2 107 81 93 84
131800(I1F 3 WA E = 400 276 4 2,808 1,188
131800(12 5 WA E Tz 2 2| 0.1 32
131800(I1F 3 WA E =1 1,440 1,440 0.18 86

131910(F R & e 1,888

131910(Fh & PN 17 17( 0.045 63 62
131910(F R & FE 53 51| 0.5 324 265
131910(Fh & [ 245 95 150 1 432 972 324
131910(F R & &) 723 0 723 10 3,132 2,430
131910(Fh & iR 205 50 155 5 1,620 3,240 2,160
131950|H A & HE 4,024

131950(H & BSE 1,500 1,182 3 1,404 432
131950{B R & =) 1,239 1,239 3 972 648
131950(B & hE 70 70 5 864

133400(L % X e 14,910

133400(L % 2 FE 11,420 6,720 10 3,024 1,944
133400(L % X = 2,020 1,520 10 3,240 1,296
133400(L % 2 KRG 1,470 1,230 10 2,376 1,458
134100|#A/1 e 11,920

134100 |88/ S 2,500 1,610 5 2,592 1,674
134100 (&A1 = 2,200 1,570 5 2,430 1,944
134100 |88/ =l 5,890 3,495 2,808 1,598
134300(#6F e 6,537




134300|50F wE 630 10 560 2 1,134 1,188 713
134300|30F = 4,712 3,974 0.3 119 108
134300|50F 1& [ 1,195 1,155 0.3 162 135
134400| k< b ¥ 3,678

134400 b~ b BE 228 228 1,296 1,188
134400| k< b REAR 3,390 3,330 1,944 864
134500 "=~ ~ ¥ 4,291

134500 &' —~ > = 495 477|  0.15 119 108
134500 "=~ ~ = I 3,591 3,363 0.13 146 97
135100| W A LT A ¥ 338

135100 WA F A =N 20 0 20 2 5,400 3,456
135200|%= ¥ 84

1352003 = ZAN 18 14 2 7,614
135200|%= ANER L 66 66 2 4,860 1,620
135300|— X ¥ 325

135300 &"— X FOFRL 72 70 2 2,268 1,080
135300|— X RS 50 50 5 7,452
136100(AA L & ¥ 41,365

136100|HA L & FE 290 290 5 1,503
136100(AA L & h¥= 2,565 2,390 5 2,052 540
136100|HA L & Ry 5,140 5,140 5 1,728 648
136200|F 5% TeE 6,060

136200| &5 timE 5,800 5,000 10 1,512 648
136200(F % B IR 260 260 10 2,138 1,058
136210( A =7 1 ~ ¥ 8,960

136210( X —7 1 > time 8,960 0 4,740 10 378 324
136300| 2% ¥ 1,080

136300(E3 i 930 0 830 10 4,266 1,620
136600(7-xa & ¥ 33,144

136600|7z & time 29,320 0] 27,090 20 2,484 2,052




136600|7-xa & BE 3,044 110 2,934 10 1,782 1,620 2,808 1,339
136600|7z & Rl 720 0 720 10 1,944
138100|& L Wizl ¥ 2,505

138100(& L W /o lF 5B 40 0 40 0.1 97 81
138100|& L Wizl wE 1,991 0 1,943 0.2 281 54
138500| L& LE ¥ 1,901

138500| L& LE K% 1,846 0 1,663 0.2 92 76
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ey _ HFE R ke) 1% By ]
a—Fk A R A8 gyF | Exmel | Buke | SEE | wEe | e | se | e | zem)
240700 Z @RI A D A K 5,663
240700 (& @R & A A FMFRWL 4,343 0 4,343 10 3,780 540
240700 (& @R & h A ey = 1,320 0 1,170 10 3,780 1,080
241481|F 2%~ B 11,525
2414817 3R~ S 11,525 0 8,570 5 2,160 1,080
2423201 a Fa—IL F [ 3,549
242320 a S a—L K B 3,549 0 1,920 10 3,780 2,052
242830(.5\C W AT be 19,532
242830|.5CW AT F7& 19,5632 0 9,270 10 4,104 1,620
242850(FEM Y A Z be 12,386
242850| MY A Z F7& 12,386 0 2,080 10 3,780 864
246000(\ b & bne 6,817
2460001 B & HE 100 24 76 0.25 540 324 540 486
246000({\ b & = 228 0 149 0.3 540 432
246000\ b & 12 1,153 0 738 0.27 637 216
246000({\ b & =8 96 0 96 0.24 518
246000\ b & RIG 2,591 0 2,277 0.25 518 248
246000\ b & BE 2,117 0 1,307 0.25 486 216
246000\ b & = 354 0 3141 0.25 432 324
247100 7 —IL X X Ay |$88 137
2471007 —x XA v B ) 128 17 77 8.5 11,880 11,448 19,440 10,800
2471007 =2 X 1O > = 9 0 0 8.5




